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Metric to Metric Conversions

4 2
3680g=_ kg 0.67kg= ¢
10lcm=_ m 3.08L= = mL
158mm=_  cm 7.85km= = m
13570mL =L 149cm=_ = mm
608m = km 305m=__ cm
2750cm=__  m 5.68km=_ = m
800g= kg 482L=_  mlL
g700mL = L 0.09kg=_ g
1520mm = cm 12cm=_ = mm
2080m = km 20.8m = cm
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Metric to Metric Cconversions

Answers
4 )

3680g = 3.68 kg 0.67kg= 670 ¢
10lcm= 1.01 m 8.08L = 8080 mL
158mm = 15.8 cm 7.85km = 7850 m
13570mL = 1357 L 149cm = 149 mm
608m = 0.608 km 30.5m = 3050 cm
2750cm = 275 m 5.68km = 5680 m
800g= 0.8 kg 4.82L = 4820 mL
8700mL = 8.7 L 0.09kg= 90 g
1520mm = 152 cm 12cm = 120 mm
2080m = 2.08 km 20.8m = 2080 cm




